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s!f HM n > 1, TM n4 + 4 V[ PPPPPPPPPP ;\bIF K[P  

 (a) VlJEFHI 5|6F"\S (b) lJEFHI 5|6F"\S (c) 1 (d) VG\T ;\bIF 
sZf      CMI TM X + Y + Z = PPPPPPPPP D/[P 

 

 

 (a) 40  (b) 30 (c) 50 (d) 72 
s#f l£WFT AC5NL p(x) = x2 – 5 G[ PPPPPPPPPP X}gIM K[P 

 (a) √5, 5 (b) - 5, √5 (c) 5, - 5 (d) √5, -√5 
s$f  l£WFT AC5NL p(x) = kx2 – 2x – 3k GF X}gIMGM ;ZJF/M VG[ U]6FSFZ ;DFG CMI TM k = PPPPPPP 
 (a) 2/3 (b)  - 2/3 (c) 3/4 (d) - 3/4 
s5f y = P(x) GF VF,[BG[ PPPPPPPPPX}gIM K[P 

 (a) 1 (b) 2  
 (c) 3 (d) 4      x 
 y 
s&f AC]5NL p(x) = x3 + 4x2 + 4x + 3 GM V[S VJIJ x + 3 CMI TM p(-3) =  PPPPPPP K[P 

 (a) 0 (b) 1 (c) 3 (d) - 3 
s*f VF5[, ;\DT]l,T +FHJFGL VFS'lTVM £FZF D/T]\ ;DLSZ6 I]uD PPPPPPP K[P 

 

 

(a) 3x = 4y, x + 2y = 10  (b) x = y, 2x + y = 10   
(c) 2x = y, 2x + y = 10   (d) x = 2y, x + 2y = 10 

s(f ;DLSZ6 I]uD 3x + 3y = 3 VG[ 5x + 5y = 5 GM pS[,U6  PPPPPPPPPK[P 
 (a) {(3, 5)} (b) {(5, 3)} (c) BF,L U6 (d) VG\T U6 

s)f 5lT4 5tGL VG[ T[GF A[ AF/SMGL CF,GL p\DZGM ;ZJF/M x JQF" K[P TM 4 JQF" AFN T[DGL p\DZGM ;ZJF/M PPPPPPP YFIP 

 (a) x + 4 (b)   x + 12 (c)  x + 16 (d)   x + 20 
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 (a) 1/2 (b) - 1/2 (c) 2 (d) - 2 
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…… ..GM ;FDFgI TOFJT PPPPPPPP K[P 

(a) 2  (b) - 2 (c) 1/2 (d) - 1/2 
s!Zf HM Sn= 2n2 + 3n TM d =  PPPPPPP K[P 

 (a) 13 (b) 4 (c) 9 (d) - 2 
s!#f(1) + (1+1) + (1+1+1) +..........+(1+1+1.......n-1 JBT) = PPPPPPPPPK[P 

 (a) 
 𝑛−1 𝑛

2
 (b) 

−𝑛(𝑛−1)

2
 (c) n (d) n2 

s!$f HM PPPPPPPPPPPP CMI TM läWFT ;DLSZ6GF ALH ;DFG YFI K[P 

(a) D < 0 (b) D > 0 (c) D = 0 (d) VF 5{SL V[S 56 GCLP 

s!5f 6x2 – 13x + k = 0 GF A\G[ ALH 5Z:5Z jI:T CMI TM k = ......... 

 (a) 
1

6
 (b) - 6 (c) 6 (d) 

−13

6
 

s!&f ;DLSZ6 x
2
 = 16 GF lJJ[RS D =PPPPPPPPP K[P 

  (a) 0  (b) 16  (c) 64 (d)  4 

s!*f ;DLSZ6...........GM pS[, 3 K[ P     

  (a) x2 – x – 6  = 0 (b) x2 + x – 6  = 0 (c) x2 – x + 6  = 0 (d) x2 + x + 6  = 0 
s!(f x2 - 4x + k = 0 G]\ V[S ALH 2 CMI TM kGL lS\DT XMWMP 

 (a) 4 (b) - 4 (c) 2 (d) - 2 
s!)f ΔABC DF\ B–M–C, A–N–C VG[ MN||AB. HM NC:NA = 1:3, CN = 4 TM BC     = ...........  

 (a) 16 (b) 12 (c) 6 (d) 0.5 

sZ_f ΔABC DF\ ;\UTTF ABC↔BAC ;D~5TF K[P TM GLR[ 5{SL PPPPPPPP ;tI K[P 

(a) ∠B ≅ ∠C (b)   ∠A ≅ ∠C (c)  ∠B ≅ ∠A (d)   ∠A ≅ ∠B ≅ ∠C 
sZ!f RMZ;GF lJS6"GL ,\AF. 5√2 CMI TM T[GL AFH]GL ,\AF. PPPPPPPPPPP YFIP 

 (a) 10 (b) 5 (c) 3√2 (d) 2√2 
sZZf ΔABC DF\ AD DwIUF K[4 HM AB2+AC2=50 VG[ AD=3 TM BC =PPPPPPPPPP 

 (a) 5 (b) 24 (c) 8 (d) 16 
sZ#f ;DAFH] l+SM6GL 5lZlDlT 6 K[P TM T[GL AFH] 5ZGF J[WGL ,\AF. PPPPPPPP K[P 

 (a) √3/2 (b) 2√3 (c) 2 (d) √3 
sZ$f ΔABCDF\ ∠A = 90. VG[ AD J[W CMI TM BD ·DC = ........ 
 (a) AB2 (b) BC2 (c) AC2 (d) AD2 
sZ5f A(x, y) G]\ pUDlA\N]YL V\TZ PPPPPPPPPPP K[P 
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 (a) y (b) x (c)  𝑥 +  𝑦  (d)  𝑥2 + 𝑦2 
sZ&f A(4,0) , B(0, 0) VG[ C(0, 6) lXZMlA\N]VMJF/F l+SM6G]\ 5ZLS[g§ PPPPPPPP K[P 

 (a) (-2, 3) (b)   (-2, -3) (c)   (2, 3) (d)   (2, -3) 
sZ*f lA\N]VM A(m, 3) VG[ B(4, 5) JrR[G]\ V\TZ √5 CMI TM m =PPPPPPPP K[P 

 (a) 5 (b) 3 (c)  4 (d)   2 

sZ(f A(2, 4) VG[ B(-3, 4) CMI TM AB JrR[G]\ V\TZ PPPPPPPPP K[P 

 (a) 7 (b) 10 (c) 5 (d) 12 

sZ)f HM tanθ tanθ = 1 TM θ = PPPPPPPPPP 
(a) 7  (b) 3 (c) 10 (d) 9  

s#_f tan2A = 
8

7
 TM 

(1 – 𝑠𝑖𝑛𝐴 )(1 + 𝑠𝑖𝑛𝐴 ) 

(1 – 𝑐𝑜𝑠𝐴)(1 +𝑐𝑜𝑠𝐴) 
 = PPPPPPPPPP 

 (a) 7/8 (b) 8/7 (c) 49/64 (d) 64/49 
s#!f tan1 tan2 tan3 ........ tan89 = ........  
 (a) 1 (b) - 3 (c) 0 (d) 2 
s#Zf HM cos245 – cos230 = x cos45 sin45 TM x =PPPPPPPPD/[P 

 (a) -1/2 (b) 3/2 (c) 2 (d) 3/4 

s##f HDLG ;FY[ 30 DF5GM B}6M AGFJTF -M/FJJF/F DFU" 5Z PPPPPPPPPP DL RF,TF HDLGYL a DL p\RF. 5Z 5CM\RFIP 

 (a) 
√3

2
 a (b) 2 a (c) 

2𝑎

√3
 (d) a/2 

s#$f V[S YF\E,FGL ,\AF. T[GF 50KFIFGL ,\AF. H[8,L YFI TM ;}I"GM pt;[WSM6 PPPPPPPPYFIP 

 (a) 45 (b)  30 (c)  60 (d)  75 

s#5f .DFZT AGL 8MRYL  BGF T/LIFYL D/TF pt;[WSM6G]\ DF5 50 K[P .DFZT AGF T/LIFYL .DFZT BGL 8MRGF pt;[WSM6G]\ DF5 

70 CMI TMPPPPPPP 

 (a) A SZTF B p\RL K[P (b) B SZTF A p\RL K[P (c) B VG[ A ;ZBL p\RL K[P (d) SM. ;\A\W GYLP 

s#&f ʘ(O, 5) GL V[S HLJF ʘ(O, 3) G[ :5X[" K[P TM HLJFGL ,\AF............. K[P 

 (a) 8 (b) 10 (c) 7 (d) 6 
s#*f ΔABC DF\ a = 4, b = 5 VG[ c = 3 CMI TM ΔABC GF V\ToJ'TGL l+HIF PPPPPPPPPP K[P 

 (a) 1 (b) 2 (c) 3 (d) 4 

s#(f ʘ(O, 10) GF ,W]J'TF\XG]\ 1F[+O/ 300 CMI TM T[G[ VG]~5 RF5GL ,\AF............. K[P 

 (a) 15 (b) 90 (c) 60 (d) 30 
s#)f HM0SF HM0MP 1. ,W]J'TF\X a.   OA     ∪  ADC  ∪ OC     

   2. U]~J'TF\X b.  AC     ∪  ACB  

   3. ,W]J'TB\0 c.   OA     ∪  ACB  ∪ OC     

   4. U]~J'TB\0 d.   OA     ∪ ADC  
 (a) (1-c),(2-a),(3-d),(4-b)  (b) (1-b),(2-d),(3-a),(4-c)  
 (c) (1-c),(2-a),(3-b),(4-d)  (d) (1-d),(2-b),(3-c),(4-a) 
s$_f 21 ;[DL l+HIFJF/F JT]"/GL l+HIFVM S[g§ VFU/ 120 DF5GM B]6M AGFJ[ TM VG]~5 ,W]J'TF\XG]\ 1F[+O/ PPPPPPPPPP YFIP 

 (a) 462 (b) 460 (c) 465 (d) 470 
s$!f ʘ(O, r)DF\ V\TU"T RMZ;G]\ DCTD 1F[+O/ PPPPPPPP K[P 

 (a) r2 (b) 2r2 (c) 3r2 (d) r2/2 
s$Zf A[ X\S]GL l+HIFVMGM U]6MTZ 2 : 1 K[4 VG[ T[DGL p\RF.VMGM 3 : 2 CMI TM T[GF WGO/GM U]6MTZ PPPPPPPYFIP 

 (a) 3 : 1 (b) 4 : 3 (c) 6 : 1 (d) 4 : 1 
s$#f G/FSFZGM jIF; VG[ p\RF. VG]S|D[ 14 VG[ 10cm K[P TM G/FSFZG]\ S], 5'Q9O/ PPPPPPPPPPPYFIP 

 (a) 308 (b) 44 (c) 1010 (d) 748 
s$$f1 WGDLP = PPPPPPP WG ;[DLP 

 (a) 1000000 (b) 100 (c) 1000 (d) 10000  
s$5f X\S]G]\ 5'Q9O/ X\S]GL JS|;5F8LGF 1F[+O/ SZTF PPPPPPPPP H[8,]\ JW] K[P 

 (a) 2𝜋rh (b) 𝜋rl (c) 2𝜋r2 (d) 𝜋r2 

s$&f  𝑥𝑖 − 𝑥 10
1 =  …… ..P 

 (a) 10𝑥   (b) 9𝑥   (c) 10 (d) 0 
s$*f HM  𝑥  = 10 VG[ M = 15 TM Z =  ............ 

 (a) 15 (b) 30 (c) 20 (d) 25 
s$(f V[S DFlCTLGM DwIS 84 K[P HM NZ[S 5|F%TF\SDF\ 6 pD[ZL 9 J0[ EFUJFDF\ VFJ[ TM GJL DFlCTLGM DwIS PPPPPP YFIP 

(a) 99 (b) 10 (c) 20 (d) 90 
s$)f ,L5 JQF"DF\ 53 A]WJFZ CMI T[GL ;\EFJGF PPPPPPPP K[P 

 (a) 1/7 (b) 2/7 (c) 3/7 (d) 4/7 
s5_f 5'yJL 5MTFGL WZL 5Z RMJL; S,FSDF\ V[S E|D6 SZ[ T[ W8GFGL ;\EFJGF PPPPPPPP K[P 

 (a) 0 (b) 1 (c) 0.6 (d) 0.5 
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